Question 13297

a) x=asinwt ,sovelocity v=X=awcosw? .One knows, that the parametric equation of the
ellipse in coordinates (x,y) is x=Asinw?,y=Bcoswt .Comparing it with equations for
x,v ,in (x,v) they will represent an ellipse with A=a, B=ao

mi’  kx’
+T be constant. One might then rewrite the last equation as

b) Let the energy E=

2
.2 2 XZ x2 2 2
mx k—le ,or 2F +ﬁ_1 . The equation of ellipse is given by x_2+y_2:1 . So,
2E 2FE k. a b

constant energy represents the ellipse with ¢ :\/ 2 % b= 2£ , which are constant when
m

E=const .
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